## Project Name Countywide Storm Drain Repairs Spec. No. RD24-04 Abstract of Bids opened on Jan. 10, 2024

**ENGINEER'S ESTIMATE: 865000** 

LOW BIDDER - Sam Hill & Sons, Inc. Ventura, CA 93005	779,999.00
2nd Bidder - FS Contractors, Inc. Sylmar, CA 91342	899,650.00
3rd Bidder - Toro Enterprises, Inc. Oxnard, CA 93031	1,183,569.00
4th Bidder - Summer Construction, Inc. Santa Paula, CA 93061	1,512,937.00

The undersigned certifies that the bids abstracted above were received on behalf of the Board of Supervisors, 'County of Ventura at the time and place designated in the Notice Inviting Bids; were publicly opened and read; and were checked.

Director, Engineering Services Department

	pened on Jan. 10, 2024			ENGINEER'S	ESTIMATE	LOW BIDDER	
Projec	t Name Countywide Storm Drain Repairs					Sam Hill & Sons, Ir P.O. Box 5670	
	Spec. No. RD24-04					Ventura, CA 93005	1
ITEM	·						
NO.	ITEM	UNIT	QUANTITY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
- 5	SCHEDULE I					V	
1	Mobilization	LS	1	77,000.00	77,000.00	21,500.00	21,500.00
2	Traffic Control & Construction Signing	LS	1	59,500.00	59,500.00	93,500.00	93,500,00
3	Water Pollution Control	LS	1	10,000.00	10,000.00	12,000.00	12,000.00
4	Structure Excavation & Backfill	LS	1	65,000.00	65,000.00	17,278.00	17,278.00
5	Single Straight Headwalls	EA	3	15,000.00	45,000.00	15,945.00	47,835.00
6	Headwall with Wingwalls	EA	1	90,000.00	90,000.00	44,937.00	44,937.00
7	Debris Barrier	LS	1	55,000.00	55,000.00	33,217.00	33,217,00
8	Reinforced Concrete Apron	SF	675	60.00	40,500.00	39.00	26,325.00
	Rip Rap Apron	TN	325	225.00	73,125.00	172,00	55,900.00
	Down Drain	LF	40	300.00	12,000.00	203.00	8,120.00
	Corrugated Metal Pipe	LF	12	600.00	7,200.00	606.00	7,272.00
	Culvert Cleaning	LF	220	100.00	22,000.00	133.00	29,260.00
	Processed Miscellaneous Base	TN	30	175.00	5,250.00	150.00	4,500.00
	AC Pavement Repair	TN	20	400.00	8,000.00	464.00	9,280.00
	AC Dike	LF	100	30.00	3,000.00	161.00	16,100.00
	Object Marker	EA	4	250.00	1,000.00	641.00	2,564.00
	Hydroseeding	SF	3050	1.00	3,050.00	8.00	24,400.00
18	Portland Cement Concrete Curb	LF	80	100.00	8,000.00	134.00	10,720.00
	Minor Concrete	CY	3	500.00	1,500.00	1,697.00	5,091.00
20	Removal of Exisiting & Installation of New Guardrail	LS	1	30,000.00	30,000.00	21,387.00	21,387.00
	TOTAL				616,125.00		491,186.00
	SCHEDULE II						
	Mobilization	LS	1	40,000.00	40,000.00	15,755.00	15,755.00
	Traffic Control & Construction Signing	LS	1	30,000.00	30,000.00	52,500.00	52,500.00
	Water Pollution Control	LS	1	5,000.00	5,000.00	8,000.00	8,000.00
	Structure Excavation & Backfill	LS	1	15,000.00	15,000.00	16,970.00	16,970.00
	Single Straight Headwalls	EA	1	15,000.00	15,000.00	15,750.00	15,750.00
	Debris Barrier	LS	1	25,000.00	25,000.00	27,086.00	27,086.00
	Rip Rap Apron	TN	110	225.00	24,750.00	221.00	24,310.00
	Grouted Rip Rap	LF	135	100.00	13,500.00	210.00	28,350.00
	Culvert Cleaning	LF	80	100.00	8,000.00	98.00	7,840.00
	Processed Miscellaneous Base	TN	5	175.00	875.00	294.00	1,470.00
	AC Pavement Repair	TN	50	400.00	20,000.00	530.00	26,500.00
	Slurry Cement	CY	90	300.00	27,000.00	313.00	28,170.00
	Object Marker	EA	1	250.00	250.00	641.00	641.00
	Minor Concrete	CY	1	500.00	500.00	4,078.00	4,078.00
	42" Reinforce Concrete Pipe Culvert	LF	43	500,00	21,500.00	606.00	26,058.00
36	AC Miscellaneous Paving	TN	5	500.00	2,500.00	1,067.00	5,335.00
	TOTAL			- 7	248,875.00		288,813.00
	TOTAL SCHEDULE I AND II				865,000.00		779,999.00

Bids o	pened on Jan. 10, 2024	2nd Bidder		3rd Bidder	
Projec	t Name Countywide Storm Drain Repairs	FS Contractors, Inc	),	Toro Enterprises, In	nc.
	·	14838 Bledsoe St.		P. O. Box 6285	
		Sylmar, CA 91342		Oxnard, CA 93031	
	Spec. No. RD24-04			(manageriatio) = 12 = 2 = 2	
ITEM					
NO.	ITEM	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
iit	SCHEDULE I				
1	Mobilization	50,000.00	50,000.00	46,500.00	46,500.00
2	Traffic Control & Construction Signing	30,000.00	30,000.00	82,500.00	82,500.00
3	Water Pollution Control	5,000.00	5,000.00	7,525.00	7,525.00
4	Structure Excavation & Backfill	50,000.00	50,000.00	92,193.00	92,193.00
5	Single Straight Headwalls	50,000.00	150,000.00	34,980.00	104,940.00
6	Headwall with Wingwalls	60,000.00	60,000.00	76,830.00	76,830.00
7	Debris Barrier	35,000.00	35,000.00	107,000.00	107,000.00
8	Reinforced Concrete Apron	60.00	40,500.00	30.52	20,601.00
9	Rip Rap Apron	300.00	97,500.00	237.00	77,025.00
10	Down Drain	100,00	4,000.00	296.00	11,840.00
11	Corrugated Metal Pipe	500.00	6,000.00	900.00	10,800.00
12	Culvert Cleaning	20.00	4,400.00	87.85	19,327.00
13	Processed Miscellaneous Base	75.00	2,250.00	309.00	9,270.00
14	AC Pavement Repair	400.00	8,000.00	833,00	16,660.00
15	AC Dike	100.00	10,000.00	101.00	10,100.00
16	Object Marker	350.00	1,400.00	218.00	872.00
17	Hydroseeding	5.00	15,250.00	4.36	13,298.00
18	Portland Cement Concrete Curb	100.00	8,000.00	190.00	15,200.00
19	Minor Concrete	500.00	1,500.00	1,830.00	5,490.00
20	Removal of Exisiting & Installation of New Guardrail		19,500.00	25,200.00	25,200.00
	TOTAL		598,300.00	,	753,171.00
55	SCHEDULE II		000,000.00		
21	Mobilization	30,000.00	30,000.00	35,000.00	35,000.00
22	Traffic Control & Construction Signing	20,000.00	20,000.00	53,000.00	53,000.00
23	Water Pollution Control	5,000.00	5,000.00	5,640.00	5,640.00
24	Structure Excavation & Backfill	10,000.00	10,000.00	9,500.00	9,500.00
25	Single Straight Headwalls	15,000.00	15,000.00	70,850.00	70,850.00
26	Debris Barrier	40,000.00	40,000.00	52,880.00	52,880.00
27	Rip Rap Apron	300.00	33,000.00	337.50	37,125.00
28	Grouted Rip Rap	50.00	6,750.00	135.00	18,225.00
29	Culvert Cleaning	20.00	1,600.00	120.00	9,600.00
30	Processed Miscellaneous Base	100.00	500.00	898.00	4,490.00
31	AC Pavement Repair	450.00	22,500.00	609.50	30,475.00
32	Slurry Cement	250.00	22,500.00	280.00	•
33	Object Marker	500.00	500.00	218.00	25,200.00 218.00
34	Minor Concrete	5,000.00	5,000.00		
35	42" Reinforce Concrete Pipe Culvert	2,000.00		5,500.00	5,500.00
36	AC Miscellaneous Paving	600.00	86,000.00 3,000.00	1,540.00	66,220.00
00	TOTAL	000.00		1,295,00	6,475.00
	TOTAL SCHEDULE I AND II		301,350.00		430,398.00
	TOTAL SCREDULE LAND II		899,650.00		1,183,569.00

rom unit price M=Modified b bidder

Bids o	ppened on Jan. 10, 2024	4th Bidder		5th Bidder	
Projec	ot Name Countywide Storm Drain Repairs	Summer Construc	tion. Inc.	-	
		P. O. Box 30			
		Santa Paula, CA 9	3061		
	Spec. No. RD24-04				
ITEM					
NO.	ITEM	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
20	SCHEDULE I				
1	Mobilization	54,400.00	54,400.00		*
2	Traffic Control & Construction Signing	49,048.00	49,048.00		
3	Water Pollution Control	19,256.00	19,256.00		
4	Structure Excavation & Backfill	177,471.00	177,471.00		
5	Single Straight Headwalls	55,000.00	165,000.00		1000
6	Headwall with Wingwalls	187,600.00	187,600.00		(€)
7	Debris Barrier	126,735.00	126,735.00		(#1
8	Reinforced Concrete Apron	78.00	52,650.00		(2)
9	Rip Rap Apron	145.00	47,125.00		(#)
10	Down Drain	322.00	12,880.00		020
11	Corrugated Metal Pipe	388.00	4,656.00		
12	Culvert Cleaning	80.00	17,600.00		*
13	Processed Miscellaneous Base	333.00	9,990.00		
14	AC Pavement Repair	821.00	16,420.00		~
15	AC Dike	112.00	11,200.00		
16	Object Marker	329.00	1,316.00		575 100
17	Hydroseeding	4.00	12,200.00		-
18	Portland Cement Concrete Curb	72.00	5,760.00		- 150 m
19	Minor Concrete	1,907.00	5,721.00		: 4.
20	Removal of Exisiting & Installation of New Guardrail		19,199.00		20
	TOTAL	10,100.00	996,227.00		0.00
***	SCHEDULE II		550,227.00		0.00
21	Mobilization	24,150.00	24,150.00		
22	Traffic Control & Construction Signing	38,410.00	38,410.00		<b>3</b> 0
23	Water Pollution Control	16,195.00	16,195.00		3.0
24	Structure Excavation & Backfill	67,389.00	67,389.00		
25	Single Straight Headwalls	76,780.00	76,780.00		-
26	Debris Barrier	87,949.00	'		-
27	Rip Rap Apron	384.00	87,949.00 42,240.00		; <del>-</del>
28	Grouted Rip Rap	181.00			-
29	Culvert Cleaning	88.00	24,435.00		:: -:
30	Processed Miscellaneous Base	983.00	7,040.00		-
31	AC Pavement Repair		4,915.00		<u>:</u>
32	Slurry Cement	535.00	26,750.00		8
33	Object Marker	410.00	36,900,00		₹
34	Minor Concrete	532.00	532.00		2
	42" Reinforce Concrete Pipe Culvert	2,717.00	2,717.00		*
36		1,226.00	52,718.00		*
30	AC Miscellaneous Paving TOTAL	1,518.00	7,590.00		
			516,710.00		0.00
	TOTAL SCHEDULE I AND II		1,512,937.00		0.00

## **LIST OF SUBCONTRACTORS**

CONTRACTOR NAME: Sam Hill & Sons Inc

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Contractor's DIR Registration Number	Business Address	Items of Work	
Total Barricade	826823	1000007525	P.O. Box 7114 Oxnard, CA	Traffic Control in Caltrans Right of Way	
APCO	283095	1000004858	P.O. Box 790 Goshen, CA	AC Dike	
Benner and Carpenter, Inc.	7998	1000062332	506 E Main Street, Santa Paula, CA	Survey Clsted ~ Incorrect D	
C&W Construction Specialties	256795	1000007135	2419 Palma Drive, Ventura, CA	Guardrail 1000001893	

If more space is needed, add additional pages.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

## **LIST OF SUBCONTRACTORS**

CONTRACTOR NAME:	FS Contractors, Inc.
------------------	----------------------

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Contractor's DIR Registration Number	Business Address	Items of Work
C&W Construction Specialties, Inc.	256795	1000007135	2419 Palma Dr. Ventura CA 93003	Removal / Installation Guardrail
Hunsaker & Associates	RCE 32247	1000008697	26074 Avenue H #23 Valencia, CA 91355	all Surveying

If more space is needed, add additional pages.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.